Nazwa: W2
Typ: Wywiewny
Opis: wywiewny

W2 - Wywiewny

Sys. | Nr|  Szt. Typ Nazwa \Wymiary Materiat| Kolor{ Pow. [m2]] Pow. catk. [m2]] Producent | Uwagi
W2 | 1 1 DRE Zadlepka meska | d1= 160 ocynk 0,04 0,04 Ogolne
W2 | 2 2 MFA Ztaczka mufowa | d1= 160 ocynk 0,05 0,10 QOgdlne
Tréjnik
w2 | 3 1 TC1* SYmetryeznyz | g1 = 160|I1= 359 | a= 100 159|e= 50 ocynk 0,25 0,25 Ogoélne
odejsciem
nrostokat.
W2 | 4 1 TUBE* Przew6d okragly | d1= 160[11= 800 ocynk 0,40 0,40 QOgolne
Trojnik
w2| 5 1 TC1* SYmetryeznyz | g1 = 160|I1= 350 | a= 100 150|e= 50 ocynk 0,24 0,24 Ogodlne
odejsciem
orostokat.
A 1 TUBE* Przew6d okragly | d1= 160] 11= 1000 ocynk 0,50 0,50 Ogolne
Trojnik
w2 | 7 1 TC1* SYymetyeznyz | 41 = 160|11= 300 | a= 100 100|e= 100 ocynk 0,23 0,23 Ogblne
odejsciem
orostokat.
Trojnik
w2 | 8 1 TC1* Symetryeznyz | 41 = 160|11= 350 | a= 150 150|e= 50 ocynk 0,25 0,25 Og6lne
odejsciem
orostokat.
W2|9 1 TUBE* Przewéd okragly [ d1= 160| 11 = 2900 ocynk 1,46 1,46 Ogolne
w2|10| 1 USE Redukcja di= 200|d2= 160 |I11= 85 ocynk 0,10 0,10 Ogdlne
svmetrvczna
w2 |11 1 MFA Ztaczka mufowa [ d1= 200 ocynk 0,06 0,06 Ogolne
Trojnik
w2 12| 1 TC1* SYmetyeznyz | 41 = 200|11= 400 | a= 150 200|e= 50 ocynk 0,34 0,34 Ogodlne
odejsciem
orostokat.
W2 |13 1 TUBE* Przewod okragly | d1= 200| 11 = 2280 ocynk 1,43 1,43 Ogblne
Trojnik
w2|14| 1 TC1* SYmetyeznyz | 41 = 200|11= 300 | a= 100 100|e= 100 ocynk 0,28 0,28 0Ogélne
odejsciem
orostokat.
W2 | 15 1 TUBE* Przewod okragly | d1= 200| 11 = 1350 ocynk 0,85 0,85 Ogblne
w2 |16| 1 USE Redukcja dl= 250|d2= 200|I1= 99 ocynk 0,17 0,17 Ogoblne
svmetrvczna
W2 (17 1 MFA Ztaczka mufowa | d1 =250 ocynk 0,11 0,11 0Ogolne
Trojnik
w2 (18| 2 TC1* SYmetyeznyz | 41 = 250|11= 400 | a= 150 200|e= 50 ocynk 0,44 0,89 Ogodlne
odejsciem
orostokat.
W2 |19 1 TUBE* Przewéd okragly [ d1= 250| 11 = 1350 ocynk 1,06 1,06 Ogolne
W2 |20 1 TUBE* Przewod okragly | d1= 250/ I1 900 ocynk 0,71 0,71 Ogblne
w2 (21| 3 BSE Kolano alfa= 90| r= 1 |dl= 250 ocynk 0,46 1,39 Ogoblne
seamentowe
w2[22] 1 TUBE* Przew6d okragly | d1= 250| 11= 3420 ocynk 2,68 2,68 Ogolne
W2 |23 1 TUBE* Przewdd okragly | d1= 250|11= 630 ocynk 0,49 0,49 QOgblne
w224 1 TUBE* Przew6d okragly | dL= 250| IL= 650 ocynk 0,51 0,51 Ogolne
Kratka
W2 | 25 3 RG1*+SV+DA wentylacyjna L= 200|H= 150 stal Ogolne
prostokatna
w226 1 K Przewéd a= 100| b= 100 | 1= 2580 ocynk 1,03 1,03 Ogdlne
prostokatny
Kratka
w227 1 RG1*+SV+DA | wentylacyjna | L= 150 H= 150 stal Ogblne
prostokatna
w2 28| 1 K Przewdd a= 100 b= 100 | I= 2600 ocynk 1,04 1,04 Ogoélne
prostokatny
Kratka
W2 129 3 RG1*+SV+DA wentylacyjna L= 100 H= 100 stal Ogblne
prostokatna
Kratka
W2 130 1 RG1*+SV+DA wentylacyjna L= 150 H= 100 stal Ogblne
orostokatna
Kratka
W2 |31 1 RG1*+SV+DA wentylacyjna L= 159|H= 100 stal Ogolne
prostokatna
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